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LISTENING TESTS
Notes on the Marking Scheme

Non-verbal Answers

Follow the mark scheme as set out.

Verbal Answers (English or Target Language)

1. The basic principle of assessment is that candidates should gain credit for what they know, understand and can do. The following guidance should be borne in mind
when marking.

(2)

(b)

(©)
(d)

(e)

Credit should be given for all answers which convey the key idea required intelligibly and without ambiguity. This applies whether the answer is in English
or in the target language. A separate assessment of spelling, punctuation and grammar is not required on these papers because of the nature of the answers.
However, these aspects are an integral part of assessing communication and marks cannot be awarded where errors in spelling, punctuation or grammar lead
to a failure to communicate the required information without ambiguity.

Where a candidate has given alternatives or additional information in answer, the following criteria should be applied:
- if the alternative/addition does not contradict the key idea or make it ambiguous, accept;
- if the alternative/addition contradicts the key idea or makes it ambiguous, reject.

Where numbered lines are given within a question/section of a question, credit should be given for correct answers, no matter which line they appear on.

Where a question has more than one section, a candidate may include as part of the answer to one section the information required to answer another
section. For instance, the information required to answer section (b) might be given as part of the answer to section (a). In such cases, credit should be
given for having answered section (b), provided that no incorrect answer has been given for that section in the correct place.

Where a question or part of a question carries more than one mark, candidates are given credit for all the correct answers they give, even if they have given
incorrect answers as well, except where any of the latter contradicts a correct answer that they have given.

..... /..... means that these are acceptable alternative answers. (.....) means that this information is not needed for full marks.

3. In questions where candidates are asked to name, for example, three types of vegetable sold in the market, only the first three items they write down should be
considered.
4. In multiple choice questions where candidates must choose one letter or number, they should automatically get no mark awarded if they give more than one. If the

rubric instructs them to write one letter or number in the box and they do so, but write a second letter or number outside the box too, then the answer in the box
should be considered.

5. No mark scheme can cover all possible answers. When in doubt:

look for the key idea, where this is appropriate.

t.c. = tout court NFP = no further penalty
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LISTENING TEST

1)
Tzfat - 18
Tel Aviv - 32
Jerusalem - 26
Beer Sheba - 39
Arad - 37
Eilat - 43

6 marks

2) Y - N9
N - )JIYT)

T - DAy

3 marks

3) N - AN
Y - oM

Y- )0
v - NY)
N - %Y

5 marks

4) .0,

2 marks

5) ,T ) - noan Yava 2y v NY
T, - N Yava 2y v

4 marks

6)

19N 19290 0N

NTyYONI NTYoN Hya/a8om

9190 ITN/N'>2/N' 9P/ INSINA TINN/NN/NIIYI

(D>732) MaIna mMIn Sya/ninm

J|v ||z

1177112/ 010N] (99°7) DIV

& marks
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7)

8)

9)

10)

11)

12)

190 T82 - DDIN TN

YIDON DI L, ONDY TN - NALVNY

5-9-7-6

91 TYIT9N 9102 - PVIANN TN 3 marks
(DY>937I8N YINK) DININ - (N 1 mark
N D/ TONON / NIAD X (OYTy) add (0d) (2 1 mark
a95 9932 7/ (9Y7x) 29D NN
PINDD [ paNON ON () 1 mark
INY yaNa (T
NYIAY DIIITVIN 2 marks
) - N YV NN
N - N> DY NIN
N - N DY NIN
Y - N DV TIT )2 4 marks
"N PON
nYIouN (1 1 mark
non »HYa (Swad) (2 1 mark
"2 PO
(259 2790 Ny) 2YY oONdHa (D7) (1 1 mark
120/ DYMOOR Y An am > (Mnvd) (2 1 mark
4 marks
1 nya Y vUoy
D>2)9IN DY 21590 (NTHYayd) yor) 1319
D)2IVINA
9)ONY /NONT Ny WYY nY5IYN/Ypwna NnbY N o)
/[ MIPIY M9 (M) | /TI9PIv/ DO PRI/ NIy
) 1INV NOD
NYY99)10 MINS DY IND must have a verb
95 MYRYNN (N wyo) N9 /MIONYNNYINT ON \BIRE
NS ywyd /a9y DVIY NO /DOnynn
INY /DAY S /M YNYNN
Iywyn /n>3>150(2)
ININD DP
6 marks
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13) a) (Study) art. 1 mark
b) His parents want him to go to university to study law / parents don’t agree / his parents
think that it is difficult to find a good job in art. 1 mark

¢) That he will be successful (in art). 1 mark

d) She can ask her uncle (who is an artist) to speak to his parents. 1 mark

14)  She will earn more money.
Men and women are equal / women can do everything just like men. 2 marks

Total marks = 60




